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Analysis and Design of Algorithm
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Note: i) Answer any five questions.
=gl uTa ueAl 3t gt HIf
ii) All questions carry equal marks.
qft et & T 31 g

iii) In case of any doubt or dispute the English version
question should be treated as final.
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1. a) Explainthe various criteria used for analyzing algorithm.
7
TR o1 RN 1 & oY sgEd Agl AFEs H
TRAT TR
b) What is merge sort? Explain merge sort algorithm for
the list: 65, 47, 24, 83, 91, 14, 53, 12 7
oo aTe g &2 PreferRaa gt & forg wet 91 temiRem
&6 =TT BRI
65, 47, 24, 83,91, 14, 53, 12
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2. a) Write the algorithm for Stassen's matrix multiplication. 7
T ¥ A U & f CenReH ford |
b) Define Kruskal's algorithm and also write down the steps

for the Kruskal's algorithm in detail. 7
Kruskal's SenReM r aRefed ¥ 3R Kruskal's T@Red

¥ ool @Yt R @ |
3. a) Explainhow job sequencing with deadline can be solved
o using deadlines. 7
TaT=T 5 Ssared & ARl S deEri o e o

IGINT PRp B gt far S
b) Explain minimum spanning tree using Prim's algorithm
for the given graph below. 7
fo T 7o 3 FRTT HTEH eI T SUANT el §Y G

i & 6t are ax|

4. Explain Floyd-Warshall algorithm with suitable example. 14
Teilge—ade TR Pl IUI ISRVl & |l AHA1Y
5. a) Find optimal solution for 0/1 Knapsack problem (w,, W,,

wy, w,) = (10, 10, 12, 18); (P,, P, P;, P) = (2, 4,6, 0)
and M= 15. 7

0/1 Knapsack problem % foT¢ geaq Sumen= @il

(Wy, Wy, w3, w) =(10, 10, 12, 18); (P,, P,, P;, P =(2,4,
6,0)and M = 15.
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b) Explainin detail 8-Queens problem. 7

b)

8-Queens H IHET AR ¥ TA1ZT

Write about different types of bounding functions with
example. 7

faf¥s gBpR & ISfET e F IR F IR F Gy
ERIEY]

Find the optimal solution using least cost branch and bound
withn=4,m=15. 7

(W), Wy, W3, w)=(3,5,6,9); P, P,, P;,P)=(15,15,17,23)
[ FHH AN arel ARaT &1 SYANT hb ST FHIEH
Wl 3R n=4, m= 15 % I a1eg |

W, w,,w,,w,)=(3,5,6,9); P,,P,,P;,P,)=(15,15,17,23)

Discuss in detail P, NP, NP complete and NP Hard problems

with examples. 14
IeTeRvT igd faRIR ¥ P, NP, NP &iic 3R NP g€ Hiserq &
TR § ISyl

a)
b)
c)
d)
e)
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Write short notes on any three of the following. 14

Binary search trees
Huffman coding
Multistage graph

Hamiltonian cycle
Quick sort.
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